


A. Read the following questions below and choose your answer from the
given choices.
1. What are the three things that must agree in pronouns and their antecedents?

a. number, color, and size
b. number, person, and gender
c. number, appearance, and height
2. The boy lost his books. Which word from the sentence is the antecedent?
a. books
b. his
c. boy
3. Jemma ate beans before she ate dessert. What pronoun must be used to
complete the sentence?
a. her
b. their
c. his
4. Fill in the correct antecedent to complete the sentence.

bought two skateboards for his competition.

a. Joshua
b. Franklin and Joshua
c. Anita
5. agreed but they wanted to play with Chistian first because he is a
beginner too.
a. Albert and Robert
b. Guitar
c. Albert

B. Identify the pronoun and the antecedent it refers to. Write your answer in their
respective boxes.

1. The submarine went under water. It descended many feet.

Pronoun: Antecedent:

2. Jason hit the baseball. He hit it hard over the fence.

Pronoun: Antecedent;

3. David, John, and Michael enjoy playing soccer. They love teamwork.

Pronoun: Antecedent:

4. Susan walked to the park. She enjoyed jumping on the trampoline.

Pronoun: Antecedent;

5. My mom and | went to the mall. We bought a new computer for my online class.

Pronoun: Antecedent:
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